Mngle Relationships Day 3 Notes/Examples
Name: Hr.

7

d-
I~ class Questions:

fwo angles are complementary. The measure of one angle is 21 more than twice the measure of the other angle. Set up
TWO equations to represent this information and then find the measures of the angles using correct units on your final

answers. B . &'<&.+&\‘+<Z:qo.
<1+<2 =90
2 <43 43 3<g +Q1=90

#s 2-5

a.) Draw the picture if one is not given to you.

b.) Set up your geometry first and justify you set up.
c.) Justify all steps.

Note* You may not change or rename any angles

2| FC L FB. f point E lies in the interior of <CFB, find x such that < CFE = 8x — 2 and < EFB = 2x + 13.

® <cre+<2EFR=90 detof Ll
© Kx-2+qx+13=90
x =".9
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3. If <SXT=3a — 4, <RXS=2a + 5, <RXT=111°, Find a and the measure of <RXS.
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For#4 &5

HL is an angle bisector of <KHI, HJ bisects <KHG and HJ L HL.
You may not change or rename any angles L
~ (KHG =170°%and<1=3d + 2.Findd.

2|22 defof ¢ bisechor TN
L14< Y =<k KG < O‘ddfm;:
() 1<l = CkHE ST

24 +2 +3d+2 = 10
bd=L0
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5. Find m <KHL if < [HL = 2x% — 17x and < KHL = 6x? + 15.
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=24.3715°

<LYR L= (1284
= o4.31S°

Yes!
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